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" T.B.C. : SDC-S-TRD Test Booklet Series

Serial No. TE ST BOOKLET

ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

= HA

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR

MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST

BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and

Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the

appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the

Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
~of the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank i.e., no answer is given by the candidate, there will be no penalty
for that question.
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1. What is the solution of

1og10[1—{1—(1—x2)4}_1} i

(@) x =100
(b) x=10
(©) =1
d x=0

. If A is an integer and «, f are the roots

of4x2—l6x+%=0 such that 1 <a <2

and 2 <f<3, then how many values
can A take ?

(a) 3
(b) 9
(c) 14
@ 15

6% +7% +82+92 +102

N7 +4v3 —4+243

. What 1is

equal

to ?

(a) 330
(b) 340
(c) 355
(d) 366

CIf XP=y+z YP=z+x and Z=x+y,
then what is the value of

1 1 1
it + 2
x+l . y+1: .Z+1 ‘
(a) -1
(b) 1
(c) 2
a 4

SDC-S-TRD - A

5. What would be the maximum value of O

in the equation
5P9+3R7+208=11147?

@ 9
() 8-
© 5
@ 4

6. A is a set of positive integers such that

when divided by 2, 3, 4, 5 and 6 Teaves
the remainder 1,2,3,4 and 5 respec-
tively. How many integers between
0 and 100 belong to the set 4 ?

(a) No integer
(b) One
(c) Two
(d) Three

. In an examination, a student was asked

to divide a certain number by 8. By
mistake he multiplied it by 8 and got the
answer 2016 more than the correct
answer. What was. the number ?

(a) 252
(b) 256
(c) 258
(d 260

. In the quadratic equation x*+ax+b=0,

a and b can take any value from the set
{1, 2, 3, 4}. How many pairs of values
of a and b are possible in order that the
quadratic equation has real roots?

(a) 6
(b) 7
(c) 8
d) 16
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(b) x=10
(c) x=1
@ x=0

.afE 4w s B R o, B @ISR
4x2—16x+%=0a51!§'f§{1m%%
1<a <23R2<p <38, A AH fran

& T § 7 -

(@ 3

®) 9

(c) 14

@ 15

62477 +8% +9% 410
T T+443 -4 4243
(@ 330

(b) 340

(c) 355

d 366

forgeh SRR 8 ?

. gfe x2=y+z,)12=z+x IR 22=x+y%,

1+1+la?rtrmam%?
x+1 y+1 z+1 )

@ -1
FORR!
) 2
d 4

5, FHIER 5P9 + 3R7 + 208 = 1114¥ Q &

Frftrera® | T BRI 7
(@.-9.
®) 8
() 5
(@ 4

. A 37 eFTCHe UIieht, ST 2,3,4, 53R 6 &

e R Sm | w1, 2, 3, 4
3R 5 AT DI €, FT (F =T © |
T A ® 0 | 100 F <= & o qurfeh
T ? ‘
(a) S qurleh K

b =

© _
@

| ft e §, w Rt @ w Ao

wE i 89 fawnfora o & ford gt T |
T & SE T @ 84 T = fear sk

| IR el IR A 2016 rferew wrw forar | @8

T FT Al ?
(a) 252
(b) 256
(c) 258
(d 260

. oo ot P+ ax+b=0% a 3R b,

= {1,2,3,4} @ Rt A R Q@
THA & | 3R b & qF & @ fFam A
gy € e forg femma wefemor & 9@
qredfas Bt ?

(@ 6

®) 7

(c) 8

@ 16
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The sum of the squares of two positive
integers is 208. If the square of the larger
number is 18 times the smaller number,
then what is the difference of the larger
and smaller numbers 7

(@) 2
(b) 3
(c) 4
@ 6
Let 4= {7, 8; 9,10, 11, 12} ‘and
B={7, 10, 14, 15}. What is the number

of elements in (4—B) and (B-A)
respectively ? :

(@) 2 and 4
(b) 4 and 2
(c) 2 and?2
(d) 4 and 4
A boy saves Rs. 4-65 daily. What is the

least number of days in which he will be
able to save an exact number of rupees ?

(@) 10
(b) 20
(c) 21
(d) 25
Two men, 4 and B run a 4 km race on a
course 0-25 km round. If their speeds are

in the ratio 5:4, how often does the
winner pass the other ?

(a) Once
(b) Twice
(c) Thrice

(d) Four times

SDC-S-TRD - A

4

13.

14.

15.

16.

Which one of the following rational
numbers has non-terminating and repeat-
ing decimal expansion ?

) 15
@ T600
o 23
b P

®
© =
o 50
7/
d sass
@ -
If o and P are the two zeros of the

polynomial 25x* — 15x + 2, then what is
a quadratic polynomial whose zeros are
(2a)! and 2B8)" 2

(@) x*+30x+2
(b) 8x*—30x+25
(c) 8x — 30x ‘
(d) x*+30x

What is the remainder when 2'% is
divided by 101 ?

(@) 1

(b) 11
) 99
@) 100

In an office, one-third of the workers are
women, half of the women are married
and one-third of the married women
have children. If three-fourth of the men
are married and one-third of the married
men have children, then what is the ratio
of married women to married men ?

(@) '1:2
() 21
()31
(d).1:3
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awwﬁ%ﬁmmzos%.l

e <t T ot a9l DI G H 18TA |,
At =3 3R B WEATHT T IR T E ?
(@ 2

®) 3

(c) 4
@ 6

A T 4 = (7, 8,9, 10, 11, 12} 3R

11.

12.

B={7,10,14,15} % | (4 - B) 3R (B — A)
T IEgal H GEr HEA: FT 8 ?

(a) 23R 4
®) 43K 2
(c) 232
(d 43R4

Teh wigeht widfed 4-65%, smar @ | feat i
I8 ~AaH wen F|1 g, e ag 3w
T Y T T G ? '
(a) 10

(b) 20

{©) 21

@d 25

3 3TeHY, 4 3R BT 0-25 km & MATHR
99 R 4 km & Gl 9 © | afe At

IR T AT 5 : 42, AN ST a1 g
¥ forat IR 3t feeperan @ 2

(a) TH &R
®) o &R
(c) TR

@ ¥R R

5

13.

freaforfaa & & ® & T aidm e
A SR TR SIS FEHR ATl

B 7 '

14.

15.

16.

15
1600
23
S
35
50
17
6

(a)
(b)
©
(d)

afe SgUT 25x% — 15x + 2% Q YIF o 3R
B &, T 78 fouma wgwe # ern fres
TIF (20) " 3R (28)' € 7
(@) x*+30x+2

(b) 8x*—30x+25

(c) 8x*—30x

@d X+30x

S 2! &y 101 @ fFwfsa fomm s, @
QR T BRI ?
(@) 1

) 11

(c) 99

@ 100

wfgemstt & @ ameht wigand foarfea € sk
foranfea Afeastt # & wew-foasr Afearst &
T=2 € | ufg qeut & ¥ dH-StaE g
fafea gt ik ww-fuerd foanfea geat &
F=a 7, i foafea Afeamstt &1 farfea
TSI o T FT AIT © 7

(a) 1:2

(b) 2:1

(c). .
@

—_ 9

|
L
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A can do 50% more work than B in the
same time. B alone can do a piece of
work in 30 hours. B starts working and
had already worked for 12 hours when
A joins him. How many hours should
B and A4 work together to complete the
remaining work ?

(a) 6 hours

(b) 12 hours

(c) 4-8 hours

(d) 7-2 hours

When the speed of a train is increased by

20%, it takes 20 minutes less to cover
the same distance. What is the time

taken to cover the same distance with .

the original speed ?

(a)
(b) 120 minutes

140 minutes

(c) 100 minutes

(d) 80 minutes

A candidate scoring x% marks in an
examination fails by a marks, while
another candidate who scores y% marks
gets b marks more than the minimum
required pass marks. What is the
maximum marks for the examination ?

@ 100(a +‘b)
x=Y

100(a - b)
®) x+y

(o). 100a+b)
y—x

@ 100a-b)
x—y

6

21.

22,

20, If p and q are the roots of x*+ px +¢ =0,

then which one of the following is
correct ?

(@ p=0orl

(b) p =1 only
(c) p=-—2o0r0
(d p=-2 oty

The cost of 2:5 kg rice is Rs. 125. The
cost of 9 kg rice is equal to that of 4 kg
pulses. The cost of 14 kg pulses is equal
to that of 1-5 kg tea. The cost of 2 kg tea
is equal to that of 5 kg nuts. What is the
cost of 11 kg nuts ? :

(a) Rs. 2310
(b) Rs. 3190
(c) Rs. 4070

(d) Rs. 4620

Which one of the following is correct in

“respect of the number 1729 ?

It cannot be written as the sum of
the cubes of two positive integers

(2)

It can be written as the sum of the )
cubes of two positive integers in
one way only

(b)

It can be written as the sum of the
cubes of two positive integers in
two ways only

(c)

It can be written as the sum of the
cubes of two positive integers in
three ways only

(d)
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T G T H A4, B & 50% 3ifere o

TRAT 2 | B e T i ot 30 9 H R
R AT 2 | B H J& 9T 8, IR I

12 5 T FT o A4 & oG 4 I8k 914
fireaR e oA o | S g Y &
R A & I 4 3R B T wie fere
w1 wGt ?

(a) 6w

(b) 12 =2

(c) 48 %

@ 72w |
el U XeATTE! Y =T 20% Fel @, Al A8
a0 78 A H 20 free W <t € |
U At 1o | I FAE R B T
A | fepaen T R 2

(a) 140 faee

(b) 120 fee

(c) 100 Frme

(@ 80 fame

ferel) atem # T arwaE x% 37k WTH AT

2 3R ¢ 3t A Hel B AT @, STAh GE
T S % 3 TTH HAT & I8 A
ATATTF IV 3iht & b 3k (e T Bt
2 | 9der & stfirenaw i | § °
100(a +b) ;
x=y
100(a - b)
xX+y

(a)

(b)

100(a +b)
y—x
100(a —b)
xX=y

(©)

7

20.qﬁx2+px+q=0a5ﬂ§{p IR g T, ar

. 21.

22.

(©)

forforfae & & I @1 TF A R ?
(a) p=03a 1

(b) e p=1

(c) p=-23FaT 0

(d) Fast p=-2

25 kg =TEe el hAd 125%. © | 9kg =@
$ FWT 4 kg T hl AT & SKER B |
14 kg <1t <l hiaad 1-5 kg =M 6t o=l
FER B | 2 kg 919 i =it ht AT S kg
7 (fieR wer) & SRR & | 11 kg 72 &
g TR ?

(2)
(b)

%2310
%. 3190
%. 4070

d) ®. 4620

@ 1729 & way # f=fafea # @
FH T TH HIFT TEl © 7

(a) T B GTCAS qUifehl & BT S AW &
&9 | Hei forar s aar ©

T Q1 HTcHeh YUITehl o AT o INT o
] # Fad TF B yaeR 4 for@r o
HehdT

2 O TS QAT T A F
w7 | Fad ¢ R 8 forar S wehan
3 _ |

=& Y EATCH ulfent o TAT & ANT &
] | A diF TR F foram i wewan
2

(b)

(©)

@)
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A shopkeeper increases the cost price of
an item by 20% and offers a discount of
10% on this marked price. What is his
percentage gain ?

(a) 15%
(b)) 12%
(c) 10%
(d) 8%

There are two numbers p and ¢ such that
their HCF is 1. Which of the following
statements are correct ?

1. Both p and g may be prime.

2.. One number may be prime and the
other composite.

3. Both the numbers may be com-
posite.

Select the correct answer using the code
given below :

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only
(d 1,2 and 3

What is

1 1 1 1
libeshioss i Tapetd it SN
-2 2= 3

1 1
\/1 20072 20057 Cual to?

1
a) 2008 ———
@) 2008

(b) 2007 - .
2007

a5
B): * D0 i
© 2008

(@) 2008-—1_
2009

26.

27.

28.

@), =2, 7=

A person can row downstream 20 km in
2 hours and upstream 4 km in 2 hours.
What is the speed of the current ?

(a) 2 km/hour
(b) 2-5 km/hour
(¢) 3 km/hour
(d) 4 km/hour

Consider the following statements in
respect of positive odd integers x and y :

1. & +97 is even integer.
2. ¥ 437 is divisible by 4.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

What are the roots of the equation

X
2¥42.97x T =9 9

(a) 2,1—log(—

2
b) 2,1-logl =
(b) Oé’(3
log3
log 2

log?2
log3

N | W

(o). =3, i—
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T GHMGR U ] & d-Ted T 20% <ht
Ffg e € 3R T8k siferd = TR 10% i
e 1§ | SHHT TAAT A FTE ?
(@ 15%

®) 12%

(c) 10%

d) 8%

3 T@m p 3R ¢ W UGR § T I
HCF, 1 ® | fafafaa & & @9 @ %94

e € 7
lpﬁqa'?-ﬁm‘@m% ‘

2. TH GEAl IWT 3R T AT |
Tohdl ©

R @ ™ g w T W qE TR

Tjﬁ'q:

(a) had 1 3R 2
(b) e 2 IR 3
(c) Faa 1 3R 3
@ 1,2 3R 3

1 L 1 . +i+ +'
1+I2—+52—+ +-2—2‘ 32

1 1
1+ s >
2007 2008

1
2008— &
@ 2008

: 1
2007~ —-—
®) 2007

1
2007 = —
© 2008

1
d) 2008—~——om
@ 2009

forges SR © ?

26. T Afth 4R & Aqhel (30aTE) 2 &

27.

20 km T T & R TR & wfcreher 2 6
A 4km TE YA | TRT A ATA FTE ?

(@ 2 km/s

(b) 2-5 km/=eT

(c) 3km/"a

(@) 4km/se

gTeqs fawH quifet x 3R y & foQ
Frafafaa st | fer Hif -

1. X+ a9 quitsh &

2. X+, 49 favsa @

gt el A B /A w2

28.

(a) e 1

(b) a2

(c) 13R2zmM
(d TALAE2

gefteRor 25422731 =9 F A FTE ?

(a). 2,1- log(%

2
®) 2,1—log{§
1. | 4023 '
o) =&l [logZ)
w4 | l0g2
) el (log3)
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There are twelve friends 4, B, C, D, E,
F, G, H, I, J, K and L who invested
money in some business in the ratio of
127 34448536+ 7585971001112
and the duration for which they invested
the money is in the ratio of
P2 1059087 654288 251
respectively. Who will get the maximum
profit at the end of the year ?

(a) F only

(b) G only

(c) Both F and G
(d) Neither F nor G

21224 462 1 842 4 4% 4 2130 s divisible

" by which one of the following integers ?

(@ 3
(®) 5
(c) 7
@d 11

If 2p + 3¢ = 12 and 4p* + 4pg — 3¢* = 126,
then what is the value of p +2g ?

(@ 5

By i
W
25
4
99

E )

(©)
(d)

The number of digits in 3°° is # and it is
given that log,,3 = 0-4771. What is the
value of n?

(a) 13
(b) 14
(c) 15
(d) 16

SDC-S-TRD - A

10

33:

34.

35.

What is the unit digit of 7'*° 2
(@ 9
(b) 7
(c) 6
d 3

If 4x + 3a = 0, then what is the value of

+ax+a?  x?—ax+a?

x> ~q? 3 +a?

4

Ta
"
a

(2)

(b)

Ry
W
Ta
a4
(d) =
Ta
Incomes of Mahesh and Kamal are in
the ratio 1:2 and their expenses are in
the ratio 1:3. Which one of the
following statements is correct ?
(a) Mahesh saves more than what
Kamal saves

(b)
(c)

Savings of both of them are equal

Kamal saves

more than what
Mahesh saves .

(d)

It is not possible to determine who
saves more

36. X and Y entered into partnership with

Rs. 700" and Rs. 600 respectively. After
3 months X withdrew 2/7 of his stock
but after 3 months, he puts back 3/5 of
what he had withdrawn. The profit at the
end of the year is Rs. 726. How much of
this should X receive ?

(a) Rs. 336 ’

(b) Rs. 366

(¢) Rs. 633

(d) Rs. 663
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A, B, C/ D EF G HIJ K3 L
are firt 2, el et =R §
1:2:3:4:5:6:7:8:9:10:11:12%
araTa # e o ok o sty & fog
T AT IEHRT A 12:11:10:9: 8
T7:6+5:4:35241 %laﬁ%aaiaﬁ
afirencm o fordt e BN 2

(a) el F

®) ¥4 G

(c) TFI F 3R G
d TRNF,AEG

21224 462 4 g42 4 4% 4 21 fpafafaa A &
forar quifer & forwmsw € 2

(@ 3

®) 5

© 7

@ 11

gfe 2p +3g =12 3R 4p*+ 4pg — 34> =126
R, Ap+2gFMAARTR ?

@ 5

21

4

25

4

99
16

(b)

@)

3%0 & it Y pHEAT © SR T3 feam man B
% log,, 3= 047718 | n T AR 7L 7
(a) 13
®) 14
©) 15
@ 16

11

33.

34.

9.

36.

730 % THTE 3k FT B ?
(@ 9 |

b) 7

(c) 6

@ 3

?Tﬁ{4x+3a=0%,?ﬁ

2t+ax+a’  x*-ax+a®

% —a? x> +a?

FTE ?

G

& 9

Ta
7
(" &
32
" 7a
24
7a

HEY 3R FHHST T I 1:2 F FII H

?, AR STF AT 1:3F UG H © |

frefafaa s A A IR T E @€l © 7

(a) HeY & S=d, FAA hl F9d | AfH
2

(b) - I QA F T R

(c) A h F=d, ALY I s=q & AfH
?

(d) e IF TGN 7El & foh i sfer
FOd AT &

(©)

(d)

X 3R Y A B 700 3R E. 600 &* AT
T GIAGRT & I § | T4 qem ae X
I €21k T 2/7 Torerter o § 3R free
T T T 3/5 A AR oG TR | ST
FIATR | a9 & AT H AHE 726 2 | TR
A fopam x =Y T =nfeg 2

(a) ®. 336

(b) ®.366

(c) ®. 633

d) =.663

A — SDC-S-TRD

Download More Papers From GothobsAIert.In


https://govtjobsalert.in/

37,

38.

39.

40.

Download More Papers From GovtJobsAlert.In

A tank can be filled by pipe X in 2 hours
and pipe Y in 6 hours. At 10 a.m. pipe X
was opened. At what time will the tank
be filled if pipe Y is opened at 11 a.m. ?

(a) 12:45 hours
(b) 5:00 p.m.
(c) 11:45 am.
(d) 11:50 a.m.

A train is travelling at 48 km/hour
completely crosses another train having

half its length and travelling in opposite
- direction at 42 km/hour in 12 s. It also

passes a railway platform in 45 s. What
is the length of the platform ?

(a) 600 m
(b) 400 m
(¢) 300 m
(d) 200 m

The speeds of three cars are in the ratio
2:3:4. What is the ratio between the

times taken by these cars to travel the

same distance ?

(@) 4:3:2.

(b). 24344

(c) 4:3:6

(d 6:4:3

If the mean age of combined group of
boys and girls is 18 years and-the mean
of age of boys is 20 and that of girls is

16, then what is the percentage of boys
in the group ?

(a) 60
(b) 50
(c) 45

(d) 40

SDC-S-TRD - A

41.

42.

43.

44.

The area of four walls of a room is
120 m”. The length of the room is twice
its breadth. If the height of the room is
4 m, what is area of the floor ?

(a) 40 m?

(b) 50 m?
(€) 60 m?
(d) 80 m?

If a square of side x and an equilateral
triangle of side y are inscribed in a
circle, then what is the ratio of x to y ?

(a) \E
3

(b) \/;
3

(c)

ol &

(d)

The ratio of the curved surface area to
the total surface area of a right circular
cylinder is 1 : 2. If the total surface area
is 616 cm®, what is the volume of the
cylinder ?

(a) 539 cm’

. (b) 616 cm®

(c) 1078 cm®
(d) 1232 cm’

A cubic metre of copper weighing
9000 kg is rolled into a square bar 9 m
long. An exact cube is cut off from the
bar. How much does the cube weigh ?

(a) 1000 kg

1000
(b) e kg

(c) 300 kg

500
(d) o kg
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e I, URT XA 2 W H AR URT ¥ &
6 T ¥ WY o1 Gehall © | U 10 & IR
X @rert 7@ | Y foram et sR St afq
q19 Y urd: 11 s @ AT 8 ?

(a) 12:45 QU
(b) 5:00 IS
(©) 11:45 wETg
() 11:50 g=Tg

Teh IRTIE! ST 48 km /52T & I & §, 391
T A AT TS HY T e H, S
frodia Rem & 42 km/ser @ 5@ @R,
12s # 90 O A IR FA © | TS TH A
rﬁwﬁﬁsﬁusﬁwﬁ% | wewrH i
oS et 8 ?

(a) 600 m

400 m

300 m

200 m

T HRT Y AT T AT 2:3:4 8 | 3
HRI GRT Teh GAT G F A H 1 ATl
A T A FT € 7

4:3:2

2:3:4

4:3:6

6:4:3

(b)
(c)
@)

aft g% o el 5 o v R

Hen g 18 W 8 3R gl W AG H
H1Ex 20 3R iRl Y g &1 WA 16 %,
T # gl hit wlasraar #= e ?
(a) 60

(b) 50

() 45

@) 40

43.

13

41.

42.

44.

@

T R TR QAR F AT 120 m’
2T A e SR NgE Mg e |
gfe FR it F9E 4 m 8, A B H1 SABA
TR ?

(a) 40m’

®) 50m’

(c) 60m’

(d 80m’ ,
aﬁgmxmqaaﬁaﬁtgmym@
W@ﬁ‘ﬁﬁ T 99 # e R 9§,

A x @ y H AT TR ?

@) \f
) \E

© 5
@ —?
qawaagiﬁwam%aa?ggémsﬁtgﬂ

I8 S=thel T I 1:2 ® | IR o U8
89 616 cm?® ®, A S HT A FT

g

(@) 539 cm’
(b) 616 cm’
(c) 1078 cm’

d 1232 cm’

IS F TE A AR A, TorEwr o
9000 kg ®, 9 m WS <l Tk TR Tt
# afcera foram STaT @ | U 3 wW W
foaeel @ w1ET STAT B | T U T a9
fram @ ? '

1000 kg

®) 1000 ke

B
() 300kg

500

@ kg

"B

A - SDC-S-TRD

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

45.

46.

47.

Download More Papers From GovtJobsAlert.In

Into a conical tent of radius 8-4 m and
vertical height 3-5m, how many full
bags of wheat can be emptied, if space
required for the wheat in each bag is
196 m* ? |

(a) 264
(b)
()

(d)

201
132

105

Let ABC be a right angled triangle with
BC=5cmand AC=12 cm. Let D be a
point on the hypotenuse -AB such that
ZBCD =30°. What is length of CD ?

60
— cm

@)=

17
(b) 7 cm

5+12+2

0. e i
5+12«/§ ,

Two circles touch externally and sum of

their areas is 1307 cm? and the distance
between their centres is 14 cm. What is

the difference in the radii of the circles ?_

(a) 5 cm

‘(b) 6 cm

(¢) 7 cm

(d) 8cm

SDC-S-TRD -A"

14

48.

49.

50.

51.

In a circle of radius 3 units, a diameter
AB intersects a chord of length 2 units’
perpendicularly at P. If AP > BP, then
what is the ratio of AP to BP ?

(@) 3++/10: 3-4/10
(b) 3++/8:3-+8
© 3++3:3-43
d 3:43 :

What is the number of rounds that a
wheel of diameter 1i1-m will make in
traversing 7 km ?

(a) 3300

(b) 3500

(c) 4400

(d) 4900

A building is in the form of a cylinder
surmounted by a hemispherical dome on .
the diameter of the cylinder. The height
of the building is three times the radius
of the base of the cylinder. The building

contains 67% m> of air. What is the
height of the building ?

(a) 6m '

(b) 4m

(c).3m

(d 2m

The radius of the base and the height of
a solid right circular cylinder are in the
ratio 2 : 3 and its volume is 1617 cm®.
What is the total surface area of the
cylinder ? ‘ :

(a) 462 cm’

(b) 616 cm’

(c) 770 cm’

(d) 786 cm?
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wF g ar, et Bear 84 m 3R
FHATR $9TE 3-5 mi @, § A & T WY
& @l R o weRd 2, af v g A
1 & o 1:96 m® SRTE 1 Saehal & ?

(a)
(b)
(©)

264

201

132

105

T A & uw qweio B ABC ®

el BC=5cm 3R AC=12cme | 9
#forg wf 4B W T foig D3 TR @ o6
ZBCD=30°% | CD Sl e H|T & ?

60 -
— cm

@ 35

— M
2

20 -
5499402

(©)

120

@ s+12493

1% 4 g9 Sed: @y wRd § 3R Ik
&A% 1 ANHA 1307 cm’ 8, 3ﬁ'{37-la5
ﬁ%aﬁ?,ﬁ@‘Mcm%lﬁ‘ﬁ
et 1 SR FATE ?

(@) Scm
(b) 6 cm
(c)" 7 cm

(d 8cm

15

49.

50.

51.

48.3%@%&%@1’%@%1{%@,

2 THTE Tl TS ST & PR dd: Widweg -
FAT e | afe AP>BP ©, A AP HT BP ®
AT FT B ?

(a) 3+«/E:3—«/T6

(b) 3+/8:3-48

() 3++/3:3-43

@ 3:43

I AR Bt FEAT FAT G, S 2 m AT H
TF ufedr 7 km fi @ @ FA F fog
T ?
(@) 3300
(b) 3500
(c) 4400
d 4900

TF TART o & IHR 8§ 30 JaR ¢ &

oM ¥ S R AgNE o TSl @ |
TART T FATS, el o MR i Froan 6t
A T R | TRA A 674 m e R
THRA hl S9TE T & ? :

(a) 6m '

(b) 4m

(€)-3m

@. 2m

TF B deg<a Sad & raR H

3R I FATE @ IGUT 2:3 @/, IR
ZHHT AEAA 1617 cm® © | S & FA
YEIT &% 1§ ?

(a) 462 cm’

(b) 616 cm>
(c) 770 cm?
(d) 786 cm’

" A — SDC-S-TRD
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The cost of painting a spherical vessel of
diameter 14 cm is Rs. 8008. What is the
cost of painting per square centimetre ?

(a) Rs:. 8
(b) Rs. 9
(c) Rs. 13
(d) Rs. 14

If a quadrilateral has an inscribed circle,
then the sum of a pair of opposite sides
equals

(a) Half the sum of the diagonals

(b) Sum of the other pair of opposite
sides

(c) Sﬁm of two adjacent sides
(d) None of the above

A circle and a square have the same
perimeter. Which one of the following is
correct ?

(a) Their areas are equal

(b) The area of the circle is larger

: T
(c) The area of the square is 5 times

area of circle
(d) The area of the square is 7 times
area of circle

A drinking glass of height 24 ¢m is in
the shape of frustum of a cone and

- diameters of its bottom and top circular

ends are 4 cm and 18 cm respectively. If
we take capacity of the glass as 7x cm’,
then what is the value of x ?

(a) 824
(b) 1236

(©) 1628

d) 2472

56.

S7.

58.

o9

Ivn an equilateral triangle anothe;r
equilateral triangle is drawn inside
joining the mid-points of the sides of
given equilateral triangle and the
process 1s continued up to 7 times. What
1s the ratio of area of fourth triangle to
that of seventh triangle ? '

(a) 256 :1

(b) 128 :1

(c) 64 :1

(@ 16: X

Rain water from a roof 22 m x 20 m
drains into a. cylindrical vessel having
diameter of base 2 m and height 3-5 m.
If the vessel is just full,. what is the
rainfall ? |

(a) 3:5cm

(b) 3 cm

& 2-5cm

(d) 2 cm

The height of a cone is 60 cm. A small
cone is cut off at the top by a plane
parallel to the base and its volume is

EIZ the volume of original cone. What is

- the height from the base at which the

section is made ?

(a) 15 cm

(b) 20 cm

(c) 30 cm

(d) 45 cm

If two tangents inclined at an angle 60°

are drawn to a circle of radius 3 cm, then
what is the length of each tangent ?

(a) 34/3 cm

(b) V3em
(c) 6 cm

(d) 2«/5 cm
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14 cn = & T e 9 R ey
FRA T HAT T 8008 B | Uit vt A=diwieR
ekt s AR 7re ?

(a)
(b)
(©)
(d)
afe TF wgAs A TH sadd ®, A e
HTI3AT & Teh J9H HT ANTHA BRI

(a) faeport & amr =1 3men

(b) TEE@ AT h GE I T ANTHA
(c) T TS HSISA BT AR

d) ITE F ¥ FE TG
Q&w’éﬁ:’vﬁtwaﬁﬁqﬁmﬁmél
ﬁmﬁﬁaaﬁﬁaﬁ:rquﬁﬂ@%?

(a) SAF SAHKA SR &

(b) T T A T R

(c) aﬁ?ﬂaw,aﬁé:amemgw

2
(d) = T e, I & QB B 77 AT
% ;

99 &1 T firema et 3918 24 cm @ |
et i & fous & AR w1/,
fraet 3R SRt g RRT 61 =am| shn
4cm3R 18cm e | aﬁﬁ?«m?ﬁ &THAT
rxcem’®, dY x T HE FT B ?

(a) 824

®) 1236

) 1628

d) 2472

®. 8
6.9
®. 13
%. 14

17

56.

~ 8

58.

39;

T Harg B & aeeR, T3 ™ wwETg
gt & syetatt & weafarget @i Sied g
Teh GERT GHATE I 1T 741 8, 31K a8
wishaT 7 R I S g | A B &
B T WTqd FI9ST o SFRe §
AT B ?
(a) 256:1
(b) 128:1
(c) 64:1
(d 16l

22 m x 20 m<h! Teh B & I8 &1 5T 2 m
E & AER TF 3-5m FAE 9 T
SRR = # ik ® | afe am Sih-sid
TR R AT E, Eﬁaﬁﬁa—cﬁ’r@% ?

(@) 3:5cm

(b) 3 cm
(€©) +2:5¢m
(d 2cm

TS F hl FATE 60 cm e | T0H ATUR &
THTR Teh O § 30 AN R TH DIel 0F
HTET ST 8, R ZAHRT AT HA UF &
ST T o7 © | SR § o8 918 941 8
STet W e T W ?

(a)
(b)
(©)
()

afg 60° & T R Feht g ot el Jaa
HﬁScmﬁwaﬁQ%ﬁ%ﬁQﬁﬁﬁ
foran STt @, aﬁu@mm&f%maﬁmﬁ
Eﬂrr%?

(a) 3x/§ cm

15cm
20 cm
30 cm
45 cm

.(b) A3 em

(c) 6cm
d 242 cm

A — SDC-S-TRD

Download More Papers From GovtJobsAlert.In |


https://govtjobsalert.in/

Download More Papers From GovtJobsAlert.In

60. What is the volume of a sphere of radius () n
3'em. 7 ' Xy

(a) 36m cm’
i | ® =

(b) 187 cm
(c) 97 cm’ ) L)
3 B4

(d) 67 cm

xy
@ 2

61. The Sides of a triangle are given by

a2 462 A2 4 4% and (b+c) where
a, b, c¢ are positive. What is the area of

For the next three (03) items that follow :

the triangle equal to ? A tent of a circus is made of canvas and is in
: the form of right circular cylinder and right

/ a2 +b2+c? ; circular cone above it. The height and

(a) 5 ' ' diameter of thé cylindrical part of the tent are

5m and 126 m respectively. The total height
of the tent is 21 m.

\/a2b2 +b2c2 +c2‘a2

()

2 _ | 64. What is the slant height of the cone ?
a(b+c) (a) 60 m -
B g | ~ (b) 65m
(c) 68 m
3 2,2 b2 2+ 2 2
@ \/(ab +b°c“ +ca”) @ 70m

2 \
' 65. What is the curved surface area of the

62. What is area of largest triangle inscribed cylinder ?
in a semi-circle of radius r units ?

(a) 1980 m’
(a) ' #* square units ; (b) 2010 m?
(b) 2/* square units | (c) 2100 m®
(c) 37* square units (d) 2240 m’

d) 4% square units :
@ 1 66. How many square metres of canvas are

: : used ?
63. The diameter of the front wheel of an 14450
engine is 2x cm and that of rear wheel is (2)
2y cm. To cover the same distance, what (b) 14480
is the number of times the rear wheel () 14580

revolves when the front wheel revolves
n times ? (d) 14850

SDC-S-TRD — A ' 18
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3 8 FrouT arel U Mot 1 e feRaen
i

(a) 367 cm’

(b) 187 cm®

() 97 cm’

(d) 67 cm’

Rt Bt 1 oemet # Aa? +b2,

Ve? +a? 3R (b +c)gr1 =aeh TR
®, W&l a, b, c 4ATCHE § | P F St
forasy TR 2 ? ,

\)az +b2 +c?

2

(a)

\/azbz +b%c? + 2a?

®) - :

a(b+c)
2

\/3(a2b2 +b%c% +c2a?)
2

@)

Frown r sl F U IgaT & siaifa s
ﬂﬁaaﬂa%ﬁ‘gmm SRSl T § 7

(a) r* =t gETEA
() 27 = A
(©) 37 o gl
d) 47 = s
Q%éﬁﬁ%ww%ﬁmmzxcm%aﬁ?

fiod ufed #1 =@ 2y em® | T wHE
T FRA & fog fow afed &t frat e

YA B, ATG 30 UfedT n IR gHAT ® ?
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(@ —
ny
®) 2

(c)

&l

@ =

n

T A (03) Wit % foro o = fRA

wmE:

T TIhE T ] e T &A1 @ | A8
e 3o ¥ w3 2, Pk IR w g
UF B | T & SeMIHRR WET Y F9E R
M FAN: Sm AR 126 m® | T it oI

IAE2Ime |

64. 3% A RS Samé freret 2 7

(@) 60m
- (b) 65m
(c) 68m
d 70m

65. ST T Tk YEIT AAhel e © ?

(a) 1980 m?
(b) 2010 m?
(c) 2100 m?
(d) 2240 m?

66. foham iR F=rw v garr ?

(@) 14450
(b) 14480
(©) 14580
d) 14850

A — SDC-S-TRD
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The wheels of a car are of diameter
80 cm each. The car is travelling at a
speed of 66 km/hour. What is the
number of complete revolutions each
wheel makes in 10 minutes ?

(a) 4275

(b) 4350

(c) 4375

(d) 4450

What is the area of a triangle with sides
of length 12 cm, 13 cm and 5 cm ?
(a) 30 cm’

(b) 35 cm’

(c) 40 cm’

@ 42 cm?

If the perimeter of a:circle is equal to
that of a square, then what is the ratio of

~ area of circle to that of square ?

(@) 227
(b) 14:11
(¢) . T:22
(d 11:14

70. ABCDA is a con-cyclic quadrilateral of

a circle ABCD with radius r and centre
at O. If AB is the diameter and CD is
parallel and half of 4B and if the circle
completes one rotation about the centre
O, then the locus of the middle point of
CD is a circle of radius

@

(b) 3

SDC-S-TRD - A

74

72.

73.

2«/§r

& —
A3
W =

If sin@ +cosO = —zl, then what is

sin@ — cos@ equal to ?

(@) 0

1

(b) 2

(c) 1
d) 2

If sinx+sin’x=1, then what is the
value of cos®x + 2cos®x + cos*x ?

(@ 0
(b) 1
(c) 2

(d 4

A man from the top of a 100 m high
tower sees a car moving towards the
tower at an angle of depression 30°.
After some time, the angle of depression
becomes 60°. What is the distance
travelled by the car during this time ?

(a) 100+/3 m

20043

b) —3

m
10043
——'—3 m

(d) 20043 m
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T R & FdH qfed HT A 80 cm © |
FR 66 km/=eT HY T F 1 W R | AF
afean loﬁﬂzﬁﬁm’iwqgfqvhaﬂm
27
(a)
(b)
()
(d)

12 cm, 13 cm 3R 5 cm =T i R EIE
AT T Bt 1 eeher T € 2

(@ 30cm?

(®) 35cm’

(c) 40 cm?

(d) 42 cm?

4275
4350
4375
4450

afe T g9 it aRfy o @l h oo &
IR, A I & AHA &1, a9 & e
& T AT T BRI ?

(a) 22:7

(b) 14:11

(c) 7:22

@ 11:14

r BrAT sk OWR 3 910! U 990 ABCD

| UF THFTA SqUT ABCDAR | T8 4B

= B, IR CD T0F GARR 3R AB &1
TR | M 39 F5 OF =RT 3R T i

TR HAT R CDF 7ex farg o formgu,
foraft P qw & 2

()

(b)

21

71.

72.

73,

) 23r
3
3r
S

afe sin6+cose=g g, ar
sin@ — cos® Teraeh SR © ?
(@ 0

1

(b)i

(c) 1
@ ~2

afg sinx + sin’x = 18, @

“cos®x + 2cos®x + cos*x FT I T 27

(@ 0
(b) 1
(¢ 2
@ 4

100 m 3 T 2R & 9 & T e 30°
AT HIVT | Ueh HR H TR T 3R A
B QEAT § | $O 99T §1E, FATHT 00
60° B ST & li'aﬁwﬁemmaaa?r
Tt & et ® 2

(@) 1003 m
20043
m

® —

1003
ek [} |

(c) 3

@) 20043 m

A — SDC-S-TRD
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Two men on either side of a tower 75 m
high observe the angle of elevation of

the top of the tower to be 30° and 60°.

" What is the distance between the two

75.

76.

77.

men ?

(a) 100+/3m

(b) 755 m
10043

€ 5 o

(d) 603 m

What is the value of

cosec?68° + sec?56° — cot?34° — tan’22° ?
(@ 0

®) 3

() 1

d 2

If 2y cosO = x sin6 and
2x secH — y cosecO = 3,
then what is x* + 4y* equal to ?

(@ 1

(b) 2

(c) 4
d 8

+43

If sin® + cosf = —1—2—— here 0<6<—72£,

then what is tan@ + cotf equal to ?

(a) et

®

SDC-S-TRD - A

78.

793

80.

© 3
4

@ =

If A4=sin’0 + cos'@ where 0‘56<§,
then which one of the following is
correct ?
(@) 1£4<2
(b) 344N

4

13
c) —<AL2
(c) Y

3 13
d) Z<4<—
@ 4 16
Botaiis cotA+cosecA—1
' cotA—cosec A+1

equal to ?

() 1+.cos A
sin A

(b) 1 _-COS A
© sind
1+sin A
©) +sin
cos A

@ 1—sin 4
cos A

Consider the following :

1. sin 1° > sin 1°

2. cos 1° < cos 1°

3. tan 1° > tan © ‘
Which of the above are not correct ?
(a) 1 and 2 only

. (b) 2 and 3 only

(¢) 1 and 3 only
(d 1,2and3
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74. 75 m I Tk AR & AT O G T STeHl

- (0)

75.

76.

05

TTER & Y o I hIvT ST 30° 3% 60°
® UId B | qH smeREt & & A gl
ferat 8 2

(a)
(b)

100+/3 m
753 m
1003

3
60+/3 m

m

(d)

cosec’68° + sec?56° — cot?34° — tan?22° T

A 71 & 7
(@ 0

b 1
(c) 1
@ 2
ZI'Fq'Zy cosf=xsin@ 3R

2x secO— y cosecO=3 g,
aqrx? + 4y fohaeh SRR @ 7

(a) 1
(b) 2
© 4
@ 8
afc sinf+ cosO= 1+2J§ B, STal 0<9<§

8, al tand + cotd o seR B 7

(a)

Bl

(b)

23

78.

79.

80.

() 3
(@ 2

NE]

afe A = sin®0+ cos*0%, ST&i 0< 0 <-§ 2,

at frafafed # & &9 @1 o we ? 2
(@) 15452

(b)

ESASI
4

LY
1"
Y s
TR

©
@

cot A+cosec A—1
cotA—cosec A+1

(a)

foraer SR B 7

1+ cosAA
sin A4

l1-cos A
sin A

(b)

1+sin 4
" cos 4

1-sin 4
cos 4
frafafaa ) fmm fifsg ]

1. sin 1° > sin 1¢

(©)

@

2. cos 1° < cos 1°¢
3. tan 1° > tan 1°¢

ITUH A & HIF QT AG © ?
(a) FaeT 1 3R 2
(b) FaeT 2 3R 3
(c) %ad 1 3K 3
@d 1,23KR3

A - SDC-S-TRD
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If tan®x+

=2 and 0°<x<90°,
tan™x

then what is the value of x ?
(a)
(b)
(c)
(d)

15°

30°

45°

60°

If the length of the shadow of a tower is

equal to its height, then what is the Sun’s
altitude at that time ?

(dy- 15°
(b) 30°

(c) 45°

(d) 60°

Consider the following :

1. cos 75°  sin 12° Cos 18°
v + RS -l

sin 15°  cos 78° sin 72°
5. COS 35° . sin 11°
sin 55? cos 79°
cos 28° cosec 62° =1
5 £ 81(())0 —sin 59° koc TP= 0
cos

Which of the above are correct ?
(@) 1and?2 onlyA
(b) 2 and 3 only
()
(d 1,2 and 3

1 and 3 only

24

84.

85.

86.

A pole stands vertically inside a
triangular park ABC. If the angle of
elevation of the top of the pole from
each corner of the park is same, then in
the triangle ABC, the foot of the pole is
at the

(a) Centroid

(b) Circumference

(c) Incentre

(d) ' Orthocentre

What is the value of
tan1°tan2°tan3°tan4® . . . tan89° ?

(a) O
(b) 1
(€) 2

@ 3

The average score of class X is 83.
The average score of class Y is 76.
The average score of class Z is 85.
The average score of class X and Y is 79
and average score of class Y and Z is 81.
What is the average score of X, Y and Z?

(a) 815
(b) 80-5
(c) 79-0

@) 780
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afe tanx + 5
tan“x

=2 3R 0°<x < 90° &,
RxFmAA TR ? '

@ 1s5° |

®) 30°

(&) 45°

(d) 60°
gfe frdl erer Y BT Ft TEE I

A & R BN I8 R gl
IV framT 8 2 ' 2

-~ (a) 15°

(b): 30°
(c) 45°
(d 60°

ﬁmﬁ%awﬁana’ﬁﬁq:

cos 75°  sin12° cos 18°
" sin15° cos 78° sin 72°

cos 35° 3 sin 11°
sin 55° cos 79°

cos 28° cosec 62°=1

sin 80°

cos 10° |
aﬁgmﬁﬁﬂﬁr%‘i%?
(a) Fad 1 3K 2
() Faw 2 3R 3
(c) a1 3R 3
{d) 1,éaﬁ13'

3. —sin.59° sec31°=0

84.

85.

e et a1 (SU) 4BC & 3R T
wWH IEATER TIT § | afe I1h F Uhh &

A T & N Y F=aaT 1 R THEHA €,

@t BT ABCH w9 &7 TS el W R ?

-(a) Feeh

(b) uikfa
(c) ST S

(d) < g

tan1® tan2° tan3° tan4° . . . tan89° T A
TR ?

(@ 0

(b) 1

' 86.

(c) 2

d 3

HET X o 376 3 838 | e ¥ & sitaa
3F 76 § | HET Z & 3NGT 3 85 T | e
X 3R &ear ¥ & 3ftea s 79 €, 3R @
Y 3R e Z & sited 3t 818 | X, Y3ii
Z 1 3iaq 3 ;g ?

(@) 815

~(b) 80-5

) 790
d) 780 |
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For x>0, if a variable takes discrete
valuesx+4,x~3:5,x—-2-5,x-3,x -2,
x+05 x—05, x+5, then what is the
median ?

(@) x—125
(B) x—05
(c) x+0'5
(d) % +1:25

The median of set of 9 distinct

largest 4 observations of the set is

increased by 2, then the median of the

new set
(@)
(b)
©)
(d)

is increased by 2
is decreased by 2
is two times the original median

remains the same as that of original
set ]

A cricketer has a certain average of
10 innings. In the eleventh inning he
scored 108 runs, thereby increasing his
average by 6 runs. What is his new
average ?

(a) 42
(b) 47
(c) 48
(d) 60
The mean of 20 observations is 17.
On checking it was found that the two
observations were wrongly copied as

3 and 6. If wrong observations are
replaced by correct values 8 and 9, then

what is the correct mean ?

SDC-S-TRD - A
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91.

92.

93.

(a) 17-4
(b) 16:6
(c)
@ 142

15-8

Number of credit cards held by an
individual can be treated as

(a) Qualitativé data
(b) Discrete data
(c) Categorical data

(d) None of the above

In a class of 100 students, there are
70 boys whose average marks in a
subject are 75. If the average marks of
the complete class is 72, then what is the
average marks of the girls ?

(a)
(b)
(©)
(d)

64
65
68
74

A pie chart depicts the classification of
total funds of an organization according
to different sources of funds. A particular
sector of pie chart for corporate tax has
108° angle at' the centre. What is the
percentage of income from corporate tax
to total funds ?

(a) 20%

(b) 25%
(c) 30%

@) 35%
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x> 0% forg, afe we =), fafeacs 7 x + 4,
x—35 x-245, x-3, x-2, x+05,
x—0-5,x+59d1 8, 91 AT | B ?

(@ x-1-25

(b) x-05
(c) x+0:5

@) #4125

o T Derort & == hit wiferht 2058 |
afe a=aa & 4 =8 IS Y01 F A TAE
T 2 3iehi 0 g1 foam st T g
ATfEreRT

(a) 2§a-<;r6n?ﬁ%

(b) 29 ° A 8
(c) ot wifekst =1 T °

d) I =g it ArferET & qwE e
&l @

s forhe faemet 10 et 1w
fafeaa oo 8 | wredl 9reit & SER
108 A s, o Saent 3itad 63 & &g
T | SEHT AGT 3T AT ® ?

() 42
(b) 47
(c) 48
(d) 60

20 HeIUTt T /LA 17 R | T HRA W U8
T T R g wer (A ) 3 3R 6%
Y # Teld IART 4T 47 | Ffe e et &
I R e 7 8 3R 9@ A s &, A
e wIem @R ?

27

91

92.

93.

(a) 17-4
(b)
(c)

(d)

16-6
15-8
14-2

.%a'iwﬁsamr@srﬁmaﬁzmﬁa&

e &) fohg 9 # AT ST gdar © 7

(a) TOITCHe <
(b) fafas g
(¢) wafa
(d) S9gh | | FE T

100 ferrf¥fat Y = wem # 70 d=F €,
e = fawg @ sitga s 75€ | afe
TFQUT HeETT o 3tET Sick 72 €, ) wiefhat &
3t 3w foram 8 2

@) 64
®)
(©
(d)

64
65
68
74

Tk goate, fordt w@ed g fiflr &
iteRcor &t fferat & fafir |l & sqaw
qurfar @ | &t o) & forg gemd @ uw
fadw &=, Feg 9 108° =T 7 T © |
FF a8 g fafy & fag sma
wfderaar /@ € ?

(a)
(b)
(c)
(d

20%
25%
30%
35%
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Consider the following statements :

1. The classes of type 15-19, 20-24,
25-29 etc. are exclusive classes.

2. The classes of type 15-20, 20-25,
25-30 etc. are inclusive classes.

Which of the above statements is/are
correct ? ‘

(a) 1 only

(b) 2 only

(c). Both 1 and 2

(d) Neither 1 nor 2

Suppose the class interval 10—-15 has

frequency 30, then what is the frequency
density of this class interval ?

(@ 2
(b) 3
) 5
d 6
Let S be a set of first ten natural

numbers. What is the possible number of
pairs (a, b) where a, b € S and a # b

such that the product ab (>12) leaves

remainder 4 when divided by 12 ?
(a) 4

(b) 6

(c) 8

(d 10

What is the remainder when 7
13°+14°+15°+16° is divided by 29 ?
(@ 8

(b) 5

SDC-S-TRD - A
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100.

(c) 3
(d o

What is the difference between the sum
of the cubes and that of squares of first
ten natural numbers ?

(a) 2280
(b) 2640
(c) 3820
(d) 4130

A motorist travels to a place 150 km
away at an average speed of 50 km/hour
and returns at 30 km/hour. What is the
average speed for the whole journey ?

(a) 35 km/hour
(b) 37 km/hour
(c) -37-5 km/hour
(d) 40 km/hour

If x+ T =2, then what is x

14—
2+1
3

equal to ?

7

(a) 10

13

(b) 10

11

(c) 10

17

d) 10
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Frafafas woet w R g
1. 15-19, 20-24; 25-29 3fe WHR
& a1t agaffa ==f € |

2. 15-20, 20-25, 25-30 3Mfe WHR

& it srafde o f €
Sudeh # & @i A1/ FA wel 8 /% ?
(a) Fae 1
(b) Fa 2
(c) 132 gHt
@ TaALAE2

T o f& =t s=Re 10-15 6
IRARAT 30 B, A T M =R w0

A S o6 S, som qa emget aenatt &1
TS A © | I (a, b) S @i dea
1T, Gi‘a’?a beSaﬁ?aib?HW%%
Wab(ﬂz)aﬁlz%ﬁw&amﬁw
AYHT 4 BT & ?

(@ 4

® 6

s

(c) 8
@ .10

13°+14°+15°+16° =1 29 ¥ fawfsa =

ST TR St T T 7

() 8
(b) 5

29

98.

99.

() 3
@ o

T GF HY0T HEAT3AT % BT ok ARTRS 3K
Seieh =T ok ARl & S T R T
BT ?
(a) 2280
(b) 2640
(c) 3820
(d) 4130

T WX w1 150 Feft X o e A
arr 50 Tt /5 Y sitaa T @ T @

3R 30 ot /w2 <t i & eftear ® | wwgel

100

7 F forg sitea iy Reaht & 2
(@) 35km/%eT

(b) 37 km/%eT
(©) 37:5 km/%eT
(d) 40 km/%eT
.l?T%x+ 11 =2%,
1+*'—1 ’
2+~
3
A x forasd SRR B |
, :
(a) 10
13
(®) 1o
11
() E
{167
@) 1o
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AT 2T W& fF OMR SeR-w=e #, Sfa wm we, A T o adterr gieasnt stgsww A, B, C a1
D=, Wﬁ@ﬁmﬁﬁa@mﬁwﬁ%uﬁaﬁtwmﬁzﬁﬁwﬁaﬁm&% | ferelt
Y werre Y 1w / Framfa - feafa § - e w= fean smam |
7q we g W) @ # fou e wised # et
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w ford |

g e i # 100 e (99) g € | e st fawd sk st A # o € | S v

F TR e (IR) fom g € | o @ O TR B 9 o, R 39 SeR-we R i wAn =ed @ |
afy s o T & o R W €, A I TR SR R S S wetn w | wew
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STt 39 et FegeR e @ fou Y SW-1e W g siferd oAt € | SR-ws # fou g fadar SR |
ot et ¥ s T E | | |

7@ wea foh 3w e e & Ffie weie & T SW-TAE W SR HRAT IE HW, ATIh FAT
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3T T A TGTRI bl JTR-Th H FRA o S1G TAT GEAT & THIIA R A IA-UTE eilerh il Gl
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. FS EW & o g wie g & s | dew © |
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A Iadl o forg 3vs

FEfes FA-=t A IRiear gt fiu o wea It & fog qve fear so | ;

() wAF U F fU TR s IR € | SHIER gR1 wds ued & forg U g us wed I & fog
7w vq fraa forg g sieht @1 weR-foretE que & ®W 7 wrer s | .

(i) afE FE SoIGIR TF @ Afid IR AT 2, A I A IAE WA e, @y fou g s # @
T I Gl o @, FR 9 3@ v & forg SwdwgeR g 9 @we @ ave fean s |
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Note : English version of the instructions is printed on the front cover of this Booklet.
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